= , Cnoxenue 1o 10 (mobaBnenue 1)
Ing Y 13

Vms: Jlata:___ Ounenka:___
4+1= 3+1= 9+1= 4+1=
2+1 = 7+1= 6+1= 3+1=
O+1= 4+1= 7+1= 8+1 =
6+1= 8+1= 6+1= 4+1=
8+1 = 4+1= 1+1= 3+1=
6+1= 5+1= 2+1= 5+1=
7+1 = 1+1= 5+1= 10+1 =
341 = 4+1= 7+1= 3+1 =
8+1= 10+1= 2+1= 7+1=
10+1 = 9+1= 6+1= 3+1=
§+1 = 1+1= 9+1 = 10+1 =
5+1= 4+1= 8+1= 2+1=
3+1= 2+1=

www.snowmath.com


https://www.snowmath.com

1% 0 A

Cnoxenue 1o 10 (moGaBnenue 1)

Vims: Jlara: Orierka:
44+1=5 3+1=4 9+1=10 4+1=5
2+1=3 7+1=28 6+1=7 3+1=4
9+1=10 4+1=5 7+1=28 8+1=9
6+1=7 8+1=9 6+1=7 4+1=5
8+1=9 4+1=5 1+1=2 3+1=4
6+1=7 5+41=6 2+1=3 5+1=6
7+1=28 I1+1=2 541=6 10+1 =11
3+1=4 4+1=5 7+1=38 3+1=4
8+1=9 10+1 =11 2+1=3 7+1=28
10+1 =11 9+1=10 6+1=7 3+1=4
8+1=9 I1+1=2 9+1=10 10+1 =11
5+41=6 4+1=5 8+1=9 2+1=3
3+1=4 2+1=3
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